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(English Version)

Instructions :

(i)

(it
(iit)

(iv)

348 (GO)

(b)

First 15 minutes are allotted for the
candidates to read the question paper.

All questions are compulsory.

labelled

Illustrate your answers with

diagrams, wherever necessary.
Marks allotted to each question are mentioned

against it.
(Multiple Choice Questions)

Choose the correct option and write in your
answer-book : '

(a) Which one of the following is not a false
fruit ? 1
(1) Apple 2.
(i1)
(iii)

(iv)

Strawberry

Walnut

Mango

For the initiation of protein synthesis,
initiation codon is 1
(i) AUG

(11) UAG

(i) UGA

(iv) UAA

5 P.T.O.

(c)

(d)

(a)

(b)

{c)

(d)
(e)

348 (GO)

Which one of the following pollutants is

biodegradable ? 1
(i) Plastic

(ii)  Asbestos

(ili) Sewage

(iv)  E-waste

Crocodile Rehabilitation Centre Kukrail

is located in I
@) Prayagraj |
(ii) Lucknow

(iil) Varanasi

(iv)  Lakhimpur Kheri

(Definite Answer Type Questions)

Where is tapetum located ? What is its
function ? LN
2 2
How many pairs of contrasting traits
were studied by Mendel in pea plant ? 1
Which pathogen causes

elephantiasis ? To which phylum da:)vr-}sir 1

this pathogen belong ? S

2 2
What is ' in rDNA ? 1
Define Niche. 1



(Very Short Answer Type Questions)

3. (a)
(b)
(c)

(d)

(e)

4, (a)
(b)
(c)

(d)
b. (a)

(b)

(c)

(d)

348 (GO)

Mention the full forms of IVF and GIFT I1+1

Comment upon Apomixis.

2

How many chromosomes are found in
Turner and Klinefelter syndromes ? I+1
What are ill effects of alcohol abuse ? 2
What does biodiversity hotspots mean ? 2
(Short Answer Type Questions)

Describe the types of pollination.

Comment on placenta in brief,

Differentiate between mcomplet.e
dominance and co-dominance. I +I -

. : 2 2

Explain the importance of biodiversity. 3
Describe the various methods of
biodiversity conservation. 3
Discuss the contribution of biotechnology

in vaccine production, gene therapy and
human insulin development. I1+1+1
Write down the names of four species of
malarial parasite. Mention the type of
malaria caused by them. I+2
Describe the inheritance of ABO blood
group in humans. 3

7 P.T.O.

(a) Comment upon the following :

(1) Embryo sac

(11) Emasculation

(b) What does the embryonic developmenE in
humans mean ? :

(¢) Comment upon sickle cell anaemia in
short. '

(d) Describe the role of microbes in bioga}
production.

(Long Answer Type Questions)

Describe the female reproductwe system of
humans.

OR

Explain the post-fertilization- events in a
flowering plant. '

Describe  the
inheritance.

chromosomal theory of

OR

~ Describe the roles of microbes in industrial

products synthesis.

Write an essay on rDNA technology. .
OR

Define population. Describe its different
interactions.
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